REBNFOEUE bigBOO2-(1)

HOBRRETN—IDBERESL—ZVT

144= 11544 =

2. 8+ 1= 31 8+ 1=

360+ 17= 9|54+ 8 =

412+ 8= 10060+ 1=

5 [+ 9= 1M 3+4=

66+ 1= 284+ 8=
RET; @ zn



REBNFOEUE bigBOO2-(2)

1243= 11+ =

2 9+ 6= 31 8+ 1=

394+6= 9] 342 =

4124+ 6= 10054+1=

51 1+ 9= e+ 1=

6 2+9= 214 7=
RET: Qe
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REBNFOEUE bigBOO2-(3)

1164+ 2= 11142 =

219+ 2= 31 844 =

39+ 1= 9] 342 =

118+ 1= 10044 { =

5 3+ 1= 16+ 4=

6/ 4+9= 12 {4+ 6=
RET: Qi
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REBXXFORLE (2) 1194+3= 5 1174+7= 14
PIERRDZ 215+6=11 = 8+1=19
[ e ] 3194+6= 15 [9/3+2= 95
= 12+6=8 105+1=06
o 5 5/ 1+5=6 [16+1=7
I N 6/2+9=11 21+4+7=8
1114+4= 5 15+4=9 116+2= 8 1114+2= 3
28+1=9 s8+1=9 29+2=17 83 8+4= 12
36+ 7= 13 [9/5+8= 13 | 315+7= 12 [9.34+2= 5
4124+8= 10 [0d6+1=7 18+1=9 [104+7= 11
5/ /+95= 12 [13+4=7 5/ 3+1=4 [116+4= 10
6/6+1=7 [128+8= 16| [6144+9= 13 [Z/4+6= 13
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